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AsL-g5Al g, (BHL eLsl)
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ul. 58

9eetl AR Al §A A5l (50% Avl iasdzi-l et udall)
Y4l RAsleL UR A HUBA €2
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1,50,000
6,00,000

45,000
30,000
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6,000
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Ram Limited is to be absorbed by Lila Limited and in order to decide upon the purchase
consideration, it is necessary among other things, to value the Goodwill attaining to the
business of Ram Ltd. The two companies agree that the basis of the calculation of
Goodwill shall be four years purchase of the average annual super profits, the profit
being averaged over four years and subject to whatever adjustment you; as the
accountant making the valuation, consider necessary.

The Directors of Ram Ltd. (two in number) will be appointed to the Board of Lila Ltd.
on absorption and it is considered that their service have been (and will be in the future)
worth X 7,500 each per annum. There has never been made any charge against the profits
of Ram Ltd. for such services.

Other information of Ram Limited are as follows :

4
1500, 6% Cum. Preference Shares of ¥ 100 each 1,50,000
6000 Equity Shares of ¥ 100 each 6,00,000
Profit & Loss Account (Cr. Balance) 45,000
General Reserve 30,000
Other Liabilities 69,000
Provident Fund 6,000
Total profits for last four years (before providing income-tax at 50%) 9,60,000
Expected rate of return on capital employed 8%
Rate of risk return on capital invested in the types of business. 2%

Fictitious assets are 10% of total assets, while fixed assets are 80% of total assets. The
market value of fixed assets was 20% more than its book value while current assets were

over valued by % 9,000.
224/OR
1. augld [ 31-3-2013 -l A%, g 424y, 12 usiel ¢ - 12
g UREIL A 4 Basql 4
SEadl A2 €35 T 100 -l dal 9000 | 9,00,000 | s 7,50,000
10% <l us. 92 ydl 3,00,000 | s(-22 4,50,000
ULHLAL 2AALHA 90,000 | AsLRU 90,000
ABLEIRL 2,10,000 | gaelRl 1,50,000
edlédl 30,000 | 2153/61s 90,000
15,30,000 15,30,000
2=y Wil :

(1) Hsidl oo [BHd 30% 2 s[HARAL oo [BHd 20% sz .
) Aswu-l e BHd T 1,05,000 .

(3)  TALERL YR 10% slavileldl asddl €.

4) U aNdRAL £ 12% 9.

(5)  [lasws adaal uddll U sl T 2,22,000 9.

6)  wadl-dl Bud T 1,26,000 2w2idl.

Gul (Qordl wrell 6Fadl Al aerell BHd il
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The Balance Sheet of Maruti Ltd. as on 31-3-2013 is disclosed as under :

Liabilities 4 Assets (4
9000 Equity Shares of ¥ 100 each 9,00,000 | Buildings 7,50,000
10% Preference Shares Capital 3,00,000 | Furnitures 4,50,000
General Reserve 90,000 | Investments 90,000
Creditors 2,10,000 | Debtors 1,50,000
Bills payable 30,000 | Cash/Bank 90,000
15,30,000 15,30,000

Other Particulars :

(1) Market price of Building is 30% and that furniture is 20% high.
(2) Market price of Investment is ¥ 1,05,000.
(3) 10% Bad debts on debtors is expected.

(4) Expected rate of return is 12%.

(5) The average profit before distribution of dividend is T 2,22,000.

(6) Value of Goodwill is ¥ 1,26,000.

From the above particulars, find out the fair value of Equity Shares.

dl. 31-12-2013 AL A% 2AviH [ s3u-l AR9s sl A 9. d [Bad d ws-u24Y

Al Yoo ¢ 12
RN EA) 3 Masal 4
SEC R ollgysd $523) 5,80,000
6000, 5% 4. Us. A2 835 T 100 | 6,00,000 | @iz i 19l 2,89,000
Al yel el NI 57,500
50,000 Sadl 92 &35 T 10 yel 22ls 1,86,000
doudd (eue : olsl ¢l 25,0000 | 475,000 2alela) 74,000
AHL(1R] UBUH vug, 50,000 | 4515t vud
(GeR eusl) 2,14,000
5% L [3elud 1,00,000
[3o{ul uz o511 @y 2,500
ols wldgl5e 58,000
delell 1,15,000
14,00,500 14,00,500
3 P.T.O.
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UsA AR UR dl. 1-1-2010 ol [R[as~s ysaard eusl . sudldl 2uleset »4uR
o1l sl i [alBadad vl Y5l ugl uam Usu A eusl e8d A RRlasws
ysad. wedl UsA Al 54 T 12.50 L ARels UIBAM Al ysadl s 9ed il 254
oitdl 2 dl §3adl Aeles ysadl.

65 wldrglse oL AA1A52L 2122l UL edl 2 dutia uldidl 222l y3l s3 .
[sl3e [Hetsdidi 2 Yoo el Guanal ¢ :

ollrHsd 3527) T 7,00,000; Wiz 24 HlAFL T 2,40,000; HleR-dleAl T 59,000; 2215
% 1,50,000; eIl T 60,000. oSl sl Rl aye 3 dlai .

N

aRleRld 5% a2l sidld gsd sal . Relar w4 d u Ay wdd cux

dl. 31-3-20131 A% Ys. (Al vl T 3,750 ©. [ulFaiexd HéAdg] del
Masdi-dl Guandd 4L 2.5% UHISL 2»LdL, €.

[Alaierd [Baell-uais dulR s:i.

Jokham Limited company was placed in voluntary Liquidation on 31-12-2013 when its
Balance Sheet was as under :

Liabilities 4 Assets 4
Share Capital : Freehold Factory 5,80,000
6000, 5% Cum. Pref. Shares of 6,00,000 | Plant & Machinery 2,89,000
X100 each fully paid Motor Vehicles 57,500
50,000 Ordinary shares of I 10 Stock 1,86,000
each fully called (Less: Calls in Debtors 74.000
arrears amounting to < 25,000) 4.,75,000 ]
Profit &  Loss

Securities Premium Account 50,000 Accounts (Dr. Bal.) 2.14.000
5% Debentures 1,00,000
Accrued Interest on Debentures 2,500
Bank Overdraft 58,000
Creditors 1,15,000

14,00,500 14,00,500

The Preference Share dividends are in arrears on 1-1-2010.

The Company’s articles provide that on liquidation out of surplus assets remaining after
payment of liquidation costs and outside liabilities; there shall be paid firstly all arrears
of Preference Share dividend. Secondly the amount paid up on the Preference Shares
together with a premium there on ¥ 12.50 per share. Thirdly the balance then remaining
shall be paid to the Ordinary Shareholders.
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The Directors had given guaranty for Bank overdraft and they are completed their
guaranty.

The Liquidator realized the assets as follows :

Freehold factory X 7,00,000; Plant & Machinery ¥ 2,40,000; Motor vehicles I 59,000;
Stock X 1,50,000; Debtors X 60,000. He duly collected the calls in arrears.

Creditors were paid less discount of 5%, Debentures and accrued interest were paid on
31-3-2013. Liquidation costs were I 3,750 and the liquidator’s remuneration was 2.5%
on the amount realized.

Prepare the Liquidator’s Statement of Account.

229/OR
2. SURA 65 (AL dl. 31-3-2013 <UL 51200 AAAML 12 Yool Sedls cuslytl edl 0 12
4

() azlddl g4l (GuR eusl) 37,92,000
(o) aalddl gdlail ur andR (dl. 31-3-2012 -l 2U%) 39,480
(5) I g21d 2,18,124
qaladl &4l yeaszel 1Al auledl sald o :

5 T wsn alw 2013 qala-l €

4,20,000 % 4 5%

13,08,000 %10 4.5%

8,46,000 %Al 24 6%

12,18,000 ACTROI 4%

37,92,000

2012-13 -l A5l-qsuld vildil Hold gzla-dl s2¢l 254 w4l sl d 2l siel 24 d
290 %3] HALY Vil 2 delduilg ddR S
Following details are extracted as on 31-3-2013 from the Trial Balance of a Corporation

Bank Ltd.

4
(A) Bills Discounted (Debit Balance) 37,92,000
(B) Rebate on Bills discounted (as on 31-3-2012) 39,480
(C) Discount Received 2,18,124

An analysis of the bills discounted shows as follows :
Amount ¥ Due Dates 2013 Rate of Discount

4,20,000 June 4 5%
13,08,000 June 10 4.5%

8,46,000 June 24 6%
12,18,000 July 5 4%
37,92,000

You are required to find out the amount of discount received to be credited to Profit and
Loss Account for 2012-13 and pass necessary Journal entries for the same and prepare
Discount Account.
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3. Al A dwiFl ugedl duR sed ARAY U 9. d Gudl dUR s 12
(A) Yl 2as-2998 vild
(B) AHIL U4
(C) Ay, Hdydl vid
dl. 31-3-2013 - A+ AAY
ga 4 Beasdl 4
Y52 5 ULURL ol dal HsiA ¢
2,00,000 22 €35 1-4-12 68l 80,00,000
7100 -l 2,00,00,000 | GiR) : g arf«l 200,000 | 82,00,000
YA wdd AL Hlez 25U :
1,60,000 92 €35 1-4-12 18l 4,00,000
100 -l T75 WS 1,20,00,000 | G2} : g a4l 2,00,000 | 6,00,000
Qi 3414 20,000 Hlead 2t |
AR €25 T 100 Ul 1-4-12 118 60,00,000
7 50 Honda 10,00,000 | G| ; aug a1 12,00,000 | 72,00,000
Rola4al 1,30,00,000 | a1zl | 16,60,000
A oSl 6% -l : 80,00,000 ki A WR 31,40,000
ay gl auiRl  40,00,000 | 1,20,00,000 | wiéy
A 53 5,60,000 | 5181 : (W3R 8,00,000
U5 Ul 53 (5mq)
s ousl 1,20,000 A5 AUl Ay 59,64,000
GuRL @ A1y, Aui-L 16,000 1,36,000
ARLEIRL 6,00,000
ols Al 2,00,000
A5L-5AL Vg,
1-4-12 <l eusl 84,000
BRI :
31-3-13
A4l 45l 13.00.000 13,84,000
6lle
SERIIRH
RYERSS 2,40,000
@1 W53 16,000
el 58 60,000 3,16,000 | 10,68,000
2,75,64,000 2,75,64,000

The following Balance Sheet is prepared as per Single Account System. Prepare :

(A) Capital Income and Expenditure Account

(B) General Balance Sheet
(C) Net Revenue Account
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Balance Sheet as on 31-3-2013

Liabilities 4 Assets 4
Authorised Share Land & Buildings :
Capital 2,00,000 1-4-12 Bal. 80,00,000
Share of ¥ 100 each 2,00,00,000 | Plus : Current Year  2,00,000 | 82,00,000
Paid up Capital : Motor Trucks :
1,60,000 share of ¥ 100 1-4-12 Bal. 4,00,000
each X 75 paid up 1,20,00,000 | Plus : Current Year  2,00,000 6,00,000
20,000 Shares of ¥ 100 Meters & Mains :
each issue during the 1-4-12 Bal. 60,00,000
year X 50 called up 10,00,000 | Plus : Current Year 12,00,000 | 72,00,000
6% Debentures : 1,30,00,000 | Debtors 16,60,000
Balance 80,00,000 Stores & Spare
Add : during year 40,00,000 | 1,20,00,000 | parts 31,40,000
Reserve Funds : 5,60,000 | Investments (cost
Staff Provident Fund : price) 8,00,000
Balance 1,20,000 Cash and
Add : Current Year 16,000 1,36,000 | Consideration 59,64,000
Creditors 6,00,000
Bank Loan 2,00,000
Profit and Loss A/c.
1-4-12 Bal. 84,000
Profit for
31-3-13  13,00,000 13,84,000
Less :
Interim
Dividend  2,40,000
Staff P.F. 16,000
Reserve Fund 60,000  3,16,000 10,68,000
2,75,64,000 2,75,64,000
Ual/OR
3. (A) [sell “lel ed g 2 d-l Gualelldl uxemdl. 12

What are Accounting Standards ? Discuss its utility.
(B) &s-li4 @vil : (A1H d is)
Write short note : (any one)
(1) ol AR 2 Aels s+l
Bonus Share and Earning Per Share (EPS)
(2) ARels Me wda sHwell

Diluted Earning per share

KG-106 7 P.T.O.



4. (A

(B)

(A)

(B)

5. (A

(B)

©)

(A)

(B)

©)

KG-106

UL vl UL, dAL sl Al
Define Auditing and discuss its advantages.
LELETOLAL G alMl 9dRULEL 3 ouieton wiHl stedl A 2 sidcl AARdR AUl

Discuss Auditing objectives to detection and prevention of fraud.
AYAWOR

el usil weudl, sidust s [Qal ulad w1l 5.
Write kinds of Audit and discuss any one in details.

g, 2idle A3 sl quid QAU AL Ya1i-l 22l 5.

12

Which points should be taken into consideration by the Auditor at the time of

starting the New Audit ?

A58 ARl 2ol widRs vigudl ugla w2l

Discuss internal checking systems of Cash Sales.

g5l @il : 2oL 2ws d=dlol ugla

Write short note on Teaming and Landing System.
idle Alaulell 2 idle stdsH @Al dslad el

Distinguish between Audit Note and Audit Programme.
AAW/OR

A2 Ao 3dl Ad s2a ?
How will you vouch the following ?
(i) OrsHea A5
Income Tax Refund
(i) uere i sidlde
Patent and Copyright
A2l sl 214 Yedisa 3dl Fd s ?
How will you verify and make valuation of the following ?
() wie 2 Aol
Plant and Machinery
(i) ols a2
Bank Overdraft
idle-ll [eanddl 24 slaeldl el Al

Discuss Auditor’s Civil and Criminal Liabilities.
8

12



6. 12 ual wediAlL el Al [sew widl aae qul

Find out appropriate answer from the following options :

)

2)

3)

KG-106

N\

A2l 2224 UL wadl sid AL el as ?

(A) y R gl

(B) L2, UslaA

(C) Al auule si.

D) Rad os 2is S

Which of the following institution will have not goodwill ?
(A) Pooja Nursing Home

(B) N.M. Publications

(C) Savani Transport Co.

(D) Reserve Bank of India

ARl su1L wsllua deielRl Aol ?

(A) 92l Udi sHAILNAL oL YoaUR

(B) sHARL AU L dlgHl Su-dll sl (9eal 12 WMl dell 234)

(C) USIR YsadlAl 591 (el 12 HIMML ARl 4dd)

(D) sHARLAL WoUR (10 HiA-AL AL WU 2™l T 50,000 % US| UL Sl)
Which are not Preferential Creditors ?

(A) Accrued holidays remuneration of employees.

(B) Contribution to Employees State Insurance (Payable for last 12 months)

(C) Amount payable to Government (payable within last 12 months.)

(D) Salary of an employee (10 months or actual or ¥ 50,000 which ever is less)

g oisel AR AR T 40,00,000 €9, AR AMRL H2UdA ARl $dl eimell
9 A Ul wdell augt Woudd wuel sl el 9. % slLAY, A
sl T 8,00,000 &ld A 9 HALAAL 151 T 5,00,000 AL Sld dl SlUBAU/L
L3l v AL9HL 2AL91

(A) T1,25,000 48 ol A2 (B)  T50,000 &4 %Al A,

(C) T2,00,000 48 %L %S (D) T 1,00,000 &4 Al AL,

The authorized capital of a Bank is I 40,00,000. The authorized capital is double
the called up capital and paid up capital is half of the called up capital. If the
Statutory reserve is ¥ 8,00,000 and the profit during the year is I 5,00,000. The
minimum amount of be transferred to Statutory Reserve Fund is

10

(A) 1,25,000 (B) 350,000
(C) 2,00,000 (D) % 1,00,000
9 P.T.O.



“4)

&)

(6)
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[saaiefl ©l2e1-20 (AS-20) Sl @19} u3 ?

(A) 2z (Hasdl

B) [as vl

(C©) wadl

(D) ARels sHuRll

Accounting Standard-20 (AS-20) is for what ?
(A) Intangibles Assets

(B) Development expenditure

(C) Goodwill

(D) Earning per share

A2 Usl sy [Qa AR o 2

(A) 2USLEDRIAL Geal 833 €35 AASIR AlUdll €.

(B) 512 u9AY, dulR Ad 2d drd % 2RI s a3 Ay .

(C) l[3er 65 A& Y 4L Ml Ml Aaldl dulR Sl 8l .
(D) *URAHL, Su-ll 2Udler w188 As1Gere (Alpl) slal Ao,
Which of the following statement is correct ?

(A) The object of Auditing is to record each and every transaction.

(B) The work of Auditing begins as soon as Trial Balance is prepared.

(C) Auditor has to prepare the reports for submission to the Bankers.

(D) In India, the auditor of a company must be a Chartered Accountant (CA).

AL Usl 595 o “s1gel o awudl el 2

(A) Ul it Aalou-dl oe

B) 58 vidldl susl viidl siedl.

(C) 518 vl viiél eusl 2uan vl .

(D) Hydl A H4l 2uas-vd 922 viél siaaell sl

Which one of the following errors is not considered “Clerical Error” ?
(A) Mistake in the totalling of subsidiary books.

(B) Finding out wrong balance of an account.

(C) To carry forward the wrong balance of an account.

(D) Wrong allocation of income-expenditure between capital and revenue.

10



(7)  “idRs 2idla-ll Sqii -l Aeeinl su-llal 2iol 1AL Usl sy [@an 02) Al 2
(A) d-t gl (el ugla sidam o, d-dl asell wx .
(B) d-l s1el Alls [Salell 3dl dwr iy .
(C) Su-dlal [Had sra Alld2il, dlogual 2 sidatdld diod Ad wad iy .
(D) ds sizel Alls »idle s2nad %370 Al ¢id,
Which one of the following is not considered “Object of Internal Auditing” ?
(A) It checks whether the accounting system is efficient.
(B) It ensures prompt preparation of final accounts.
(C) It verifies compliance of the Policies, Plans & Procedure laid down.

(D) It saves the cost of carrying out the Annual Audit.

(8) <AL Usl £y [aa “oidRs vigurl 2is &g Al ?
(A) s92017) g121 adl oell wdl siedl 2 viesiadl.
B) sHARL gl adl AUl wdl siedl 244 x2s1addl.
(C) Al [saell wgla 2tu-adl & el aldls [Suell »sudl duiR w.
(D) ALSsiA YL Wi viadl Adl 5 M-l opeiadimi JauRl sl
Which of the following is not one of the objects of “Internal Check™ ?
(A) Detection of errors committed by the employees and to prevent them.
(B) Detection of fraud committed by the employees and to prevent them.

(C) Adoption of accounting system leading towards preparation of final accounts
without delay.

(D) Improvement of quality of goods/services provided to the customers.

©) sl Fasdiqn el Guard, Gl sal Il U8l 53 dloy AU 2l ?
A) sl Masd viRlez 2uudl 2le
(B) WRlerllz AL WAAALLR
(C) o5 u o5
(D) d2auRld Ml (Gl SaHHl)
Which of the following is not relevant voucher for vouching of “Proceeds from sale
of Fixed Assets” ?
(A) Receipt issued by the purchaser of Fixed Assets
(B) Correspondence with purchaser
(C) Bank Pass Book

(D) Sales Invoice (or cash memo)
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(10) Fasdidl a5l susdni A4 Usl sy (e 0 el 2

KG-106

(A) del M % Basd W sl 2udl 9.

(B) [Masdl vuR 2Rdcdl .

(C) [Masdid dloy Ad o yeuis u4y .

(D) datdl Hasdl w2 s ol © 5 Al d ol »32 el

Which of the following statement is not correct in respect of verification of assets ?
(A) The assets have been acquired for the business.

(B) The assets actually exist.

(C) The assets are properly valued.

(D) Any charge on business assets must not be verified.
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